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AFTIRELE 5 5 5 5 5 4
AHFmIRERE 5 4 5 5 5 5
AFR—TERESE 5 5 5 5 4 4
RERESE 4 5 5 4 4 5
AFARETRELE 5 4 4 4 4 4
BAEARELE 5 5 4 4 4 4
MEANTHRESE 4 4 3 4 4 3
hR/\THRESE 5 5 5 5 5 5
EIFREE 5 5 5 5 4 4
REMTRELE 4 4 4 4 4 4
HERM_-_TERELE 4 3 4 3 4 3
BOKRELE 4 4 4 4 4 4
HERRELRE 4 3 4 4 4 3
R AIREE 5 4 5 5 5 4
HAZELDR 4 4 5 4 5 4
TS RELRE 5 4 4 5 5 4
Mt RELE 4 4 5 4 4 3
EANBRESE 5 4 5 5 5 5
EAE=THRESE 4 4 5 4 5 4
ERRERE 4 4 4 4 4 5
THAFRESE 5 5 5 4 4 4
THAFHETERELE 5 5 5 5 5 4
ZEIRELE 4 4 5 4 5 4
EFRRESE 5 4 5 5 5 5
EAREEHEN=E 5 4 5 5 5 5
ERRELSE 4 5 5 5 5 4
BEHBE->FUVAIE 5 5 5 5 4 4
BB E>FUAIE 5 5 5 5 4 4
PFEREE=->FUOAIE 5 4 4 5 5 4
EXBBB-FUVAIL 4 4 5 5 4 4
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RERERE 4 5 4 4 4 5 4
REABTRERE 4 4 5 4 4 4 4
HEEARESE 5 5 4 4 4 4 4
EmEANT BIRESRE 4 4 4 3 4 4 3
FR/N\TERERE 5 5 5 4 5 5 5
R IRER 5 5 4 5 4 4 5
RERTRER 4 4 4 4 3 4 4
BEAH_-_TERELE 4 4 3 4 4 4 3
BOKBESE 4 4 4 4 4 4 4
HERRER 4 4 4 4 4 4 3
B IRERE 4 4 4 5 4 4 3
N ER 5 5 4 5 5 5 5
EAEB=TERESE 3 4 4 4 3 4 3
EARERE 4 4 4 4 4 4 5
TAFRERE 5 5 4 5 4 5 4
THFETERES 5 4 5 5 5 4 4
LE)IRELRE 4 4 4 5 5 4 4
HEHRERE 5 4 5 5 5 5 4
MBZELDOR 4 4 4 5 5 5 4
5 5 4 4 4 4 5
5 5 5 5 5 4 4
4 5 5 5 5 4 4
5 5 5 5 4 5 4
4 4 5 4 4 4 4
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